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Question Number : 1 Question Id : 70819121814 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

-

Options :
In5
t‘) 1'.1
70819170591. -
In(ty + t;)
70819170592. 2
.tz £

70819170593, In5

70819170594.

Question Number : 1 Question Id : 70819121814 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



66151 60994 F7RIR a 6f A6 62aZ8 | 6El4d QNG L 6 Y9IQ APRITR A 26E I UM 1@

QA4 1, 69 29WIER 2 941 RARIE G ARV 2 6966 26E ?
J

Options :

In5

2 — g
70819170591,

In(ty + t)
70819170592. 2

.tz t

70819170593. In>5

70819170594.

Question Number : 2 Question Id : 70819121815 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magnification is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options:

20819170595. Both A and R are true and R is the correct explanation of A

70819170596, Both A and R are true but R is NOT the correct explanation of A

70819170597 A is true but R is false



208191705098, A i false but Riis true

Question Number : 2 Question Id : 70819121815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

GC6q 906 99 Q2IINE | 6915 cATAN A 6 24T 196 R 91968 690 @aIdIeg |
6RITEI A : 6615 900 2¢RAE 94 Ain 92Fa 6AEQ AR gEINR 6@l AR A2 AR |

Qe R: g2 996Q FOIq 25 cm 9RAIER 920 F 9ROKA AHIAINAIRARIG IBF NS
6RIAN e" 6QZTIR Y2 IQ 929 614 SR |

QU619 B9 @ UFAIGR, 96R QULIRAS Tegeq fug 0R 980T 999 @99 :

Options :
70819170595, @ikl A 99" R QoM U3 99° A Q OR QIS R 269 |

70819170596, @uld A Q% R Wi Zo@ 99° A @ 0) gl R Q69 |

70819170597 A 964 260 @2 R 9% 269 |

70819170598, A 9 266 @g R O, 26g |

Question Number : 3 Question Id : 70819121816 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
30 Hz, When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency
of fork A?

Options :

70819170599, -0 Hz

70819170600, -8 Hz



70819170601, >4 Hz

A
70819170602, -2 HZ

Question Number : 3 Question Id : 70819121816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

204l 298 QIR 6BITY QAR 09 (A) 340 Hz 218 389 4@ 94l QUAS 06 <@ 626R9 98
5 390(3¢) 98 @hald | 67606967 QIR 07 A q 601R dRIaN (Tene), Jae 2198 2 v/
6269 @ QAAN | QYAC @R (A) @ QB 6960 ?

Options:

70819170599, -2 Hz

70819170600, -8 Hz

70819170601, 242 Hz

A0
70819170602, 12 Hz

Question Number : 4 Question Id : 70819121817 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Draw the output signal Y in the given combination of gates.

A : —t
O[T 2 34 5t Ae— ]
X
B : Be
0] 1 2 3 4 5 s

Options :

o 1 2 3 4 5 s
70819170603.

0 1 2 3 4 5 i)
70819170604.

ol 1 2 3 4 5 ts)
70819170605.

of 1 2 3 4 5 ts)
70819170606.

Question Number : 4 Question Id : 70819121817 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



606 §Fae GRS A6 9F6ed JeAIR ASE @ |

A [ [ [
of T 2 3 4 5 ts) Ae—] |
Y
B : Be
of 1 2 3 4 5 ts)
Options :
70819170603, 0l 1 2 3 4 5 )

70819170604, O 1 2 3 4 5 i

i
[~
(§5 ]
o
(S F ]
@

70819170605, Ol

70819170606.

Question Number : 5 Question Id : 70819121818 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 ' A second’s pendulum has a time period of 1 second.
Statement II It takes procisel}-' one second to move between the two extreme
pnsitinns.

In the light of the above statements, choose the correct answer from the options given
below :

Options :



20819170607 Both Statement | and Statement Il are true

70819170608. Both Statement I and Statement 11 are false

70819170609. Statement 1 is true but Statement 1l is false

70819170610. Statement | is false but Statement 1l is true

Question Number : 5 Question Id : 70819121818 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q76 996 98 QULE |

@@ 1 : 60159 626044 CO9RfQ 2R 1 6A6RE |

@8 I1:  9af 90941 AIF AI6R 60 AAe AR 12 A0Q, NER IR 6I6RE 6RR2N |
QU8 QYL@ A6, F76Q @8 IRegeR Ay O] K800 048 QA :
Options :

70819170607, @86 @9 1 96" @9 LI 964 26T |

70819170608, @&< @@ 1 9 @@ II Fau 266 |

20819170609, 2® 1€ OR UG @g @8 11 & {2N! 266 |

20819170610, @@ 16 9R @g @3 11 § A6 26e |

Question Number : 6 Question Id : 70819121819 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and "V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7?



Options :

[—27 31276
70819170611.[M G

r—3 413 7T/
70819170612, M "L 717 T']

=2 413 77
70819170613. Lo e

f-11.-31-2T7-7
70819170614. B e

Question Number : 6 Question Id : 70819121819 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@@ ‘C’ 99 'V QaIQeq dIA6l 99° GReq QIR 6969 ‘N @ JFE g@e 9’4 629 6aw0
C/V=\?

Options :
r—2 312 ThH
70819170611. Lo R
r—23 413 77
70819170612, M L7 T7TY]

i—2 413 77
70819170613. Lo e

[-11-31-2T-7
70819170614. Lol i i 4

Question Number : 7 Question Id : 70819121820 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is flying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2.5x 10 4 Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wings will be ___



Options :

70819170615, 108.25 mV

62.50 mV
70819170616.

70819170617, 5837 mV

417 T
70819170618, > +122 m\

Question Number : 7 Question Id : 70819121820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10 m 90QIQ 606l @38 66ITN APIPIPIR §AFRE @66R 180 km/h 6966R @GR | 690 2°860
§99@18 6899 61961 25X 1074 Wh/m? ¢° @96RId 60° 6T | RPIRILIR 694Ia Ag QT
(e6q 600 AQYQ @99 99 89 |

Options :

) 7
70819170615, 108.25 mV

62.50 mV
70819170616.

7 T
70819170617, 5837 m\

417 T
70819170618, >+ 122 M\

Question Number : 8 Question Id : 70819121821 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A cord is wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :

2gh
708191706109.

2
70819170620, |+ mr

2mgh

[ + mr®

70819170621.

2mgh

| Emrz

70819170622.

Question Number : 8 Question Id : 70819121821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r QE 38 ¥R 6@ (209)% IR0 6aIEY 0§ (7€) YPINIRE | FRFA 28 §ANILR 6219
AE8 19° 1@ 69R66R 2G4 99q 1 266 | 9550 669 (860 mg BRREN °YS LA | 66
36 29919 @92 | ‘N 90! 43Rl U6R, 990R 6FIR 6ReR 96 689 |

Options :

2gh
70819170619.

2
70819170620, |1 mr

2mgh

70819170621, |+ mr

70819170622.



2mgh

I + 2mr

Question Number : 9 Question Id : 70819121822 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬂmﬁ@ﬂmydameﬂomavmmﬂpﬂmﬁy:m&ﬁﬂﬁﬂmmumdﬁamamﬂmm
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options :
2
tan 1[3., —
70819170623, 26
e © 12
tan 1(_ -
\ax/ B
70819170624,
)
S
tan lu,, E
70819170625.
4&2
tan l(.'l'.,.
70819170626. B

Question Number : 9 Question Id : 70819121822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6615 66RAIINR HAAIG AFGRER J6ET A U6 y=ax—Pr’, 6E0KA o, f Q66 FRIT
26G 6 x 49° y FRIQEF 6904 T96, 6TI6IYRAA HAARA 8 §ARID 9a0I 26S | 6T 61I4 (6)
99° A8 Q9IS 996! (H) J2Ig6n 699 :

Options :

70819170623.



. o
tan— "3, 2B
tan 1-[’&\, a®
\a,) P
70819170624.
f.'l'.z
tan lu, E
70819170625.
-—10:2
Ltan lct,
70819170626, B

Question Number : 10 Question Id : 70819121823 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

<« @——TOB0I0E—0
F B A

Options :
-~ MF

Ma
70819170627.

F+ Ma
70819170628. M

‘Ma -1

70819170629.

70819170630.



F - Ma
M

Question Number : 10 Question Id : 70819121823 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6615 @@.@@mq 3a QI gesia M 939 989 90T 93 A 1@ B Q 0699 99 2'Y9 ARIAIA |
§o6a 4ILINAR! 29216R 631 99 (F) B 29 246a Qi @28 | 99 a gad 2@ A 298 B @8
0I5, 2600d%! 2107 @AS, 6669 B 9350 QA8 609 :

«—@— T I—8
F B A
Options :
~ MF
+ Ma
70819170627.
F + Ma

70819170628. M

‘Ma —F

70819170629.

'F — Ma
M

70819170630.

Question Number : 11 Question Id : 70819121824 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I~ :  An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement II :  If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :

Options:

20819170631. Both Statement | and Statement Il are true

70819170632. Both Statement | and Statement 1l are false

70819170633. Statement 1 is true but Statement 1l is false

20819170634. Statement 1 is false but Statement 11 is brue

Question Number : 11 Question Id : 70819121824 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G¢6Q QoF 98 GUIRE

@8 [: 6615 Tfl 6OIRRE 6RE6R @ 699109 GO QEIdIRR | 6FINe F 6oa QRS
699489 g g7 266 A9 60I9R (kR UM 680 69940 689 §RY G6Y |

Q@ I1: 07 65154 39l A6 6AINGA UAIE R 49° 126R A9l QFRIE 616 Q 266, r (< R)
QG T 6EIRNIRIA 18090 6U6FET TQ6R 63R10R 689 R4 266 Ag @ r
QR 3598 F9P CRINININ IR AUERR JIRIR 63Q10R g9 §° 6% |

AO6RI @8 F0 AQCIEE, 7760 @8 Gep 69 fikig 08 eRE 94% A9
Options :

20819170631, 28@ @3 1 49° @g 11 964 2166 |

70819170632, “8a G® 199° @ LI «12N| 26e' |



20819170633, @@ 1€ O 266 @3 @@ 11 & fay 26ee |

70819170634, 2% 1 & 98 @ @9 11 ¢ d4 26T |

Question Number : 12 Question Id : 70819121825 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A scooter accelerates from rest for time t; at constant rate a; and then retards at constant

t
rate a, for time b and comes to rest. The correct value of —— will be :

ty

Options:

2

dp
70819170635.

a

dq
70819170636.

.'ﬂl { iﬂ.z

d

70819170637.

.al | iﬂ.z

70819170638, 2

Question Number : 12 Question Id : 70819121825 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
66151 469 6 299Ig 1, AAG AI §8 2Q a; 6Q §AO 29 19° YIT6R 1, TG AIK 8 AR a,

i i i3 t 2
60 FIL'Q 62In QR UG Al | t_l QAR el eRe |
2



Options :

ay
70819170635.

ay

d]
70819170636.

.':"!.1 { az

a]

70819170637.

.al f do

70819170638, 2

Question Number : 13 Question Id : 70819121826 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
Thegasis:

Options :

monoatomic only.
70819170639. i

70819170640 diatomic only.

70819170641 polyatomic only.

either monoatomic or diatomic.
70819170642.

Question Number : 13 Question Id : 70819121826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

6IEN 2IQd GUQR 298 §3 (U), Q1 (P) 99° 2GR (V) §8Q U=3PV+4 2IQRER g

QAU |

QYIgE 6298 :
Options :
70819170639, Tuow e OGS

70819170640, S@9w LU

70819170641, 599w QgUarliga

70819170642.

Question Number : 14 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4@ Jeflge 9 §aanEe

: 70819121827 Question Type : MCQ Option Shuffling : Yes

The recoil speed of a hydrogen atom after it emits a photon in going from n=>5 state ton=1

state will be :
Options :

70819170643, 34 m/s

70819170644, 17 m/$

325 m/s
70819170645.

219 m/s
70819170646.

Question Number : 14 Question Id

: 70819121827 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n=>5 29K n=1 2egq F0I6967 AR CRFIFE 66T 60167 F6I0 RAITER Y210 ARSI
696 629 :

Options :

70819170643, 134 m/s

70819170644, *17 m/s

3.25 m/s
70819170645.

219 m/s
70819170646.

Question Number : 15 Question Id : 70819121828 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length of metallic wire is I ! when tension in itis T " It is Iz when the tension is Tz' The
original Ic-ngth of the wire will be :

Options:
Lo+ 1,
70819170647. 2
b < B, 8
)
70819170648.
T4 - Tk
I
70819170649, -

70819170650.



Th - Tl

Question Number : 15 Question Id : 70819121828 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

69150 A0S BI8R €GN I, Y6E CUEDERER IYU6R 2SI 0AR(65RER) T, Ue | HRR(60R4R)
T, 68 210 6364 1, 266 | 0106 7@ 696 6248 :

Options :
YA
70819170647. 2
T £ T
j RN )
70819170648.
L—E
T, — T
70819170649, -
Tl —Hi
i R
70819170650. '

Question Number : 16 Question Id : 70819121829 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M., the graph of velocity as a function of displacement is :
Options :

a circle.
70819170651.



a parabola.
70819170652.

70819170653, 1 ellipse.

a helix.
70819170654.

Question Number : 16 Question Id : 70819121829 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

66159 28Rl 909 Q6AIRR 60 (99.96.497) SMIOF QG2 | PR TR ANAEA JR69ATR
CRUTQE 6968 :

Options:

70819170651, 5916 Q&

70819170652. 6alic™] 4l ‘E‘G‘EJ.E:E]E}IEG‘IEH )

70819170653, S9/0'¢ VMA@ (9Q9Q)

70819170654, SIS 8741 (6209)

Question Number : 17 Question Id : 70819121830 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit
l—:o l—) l—) & z .
vectors @, b and ¢ respectively. Then choose the correct relation for these vectors.
Options :
— =3
a—c

70819170655, D=



\
— | —

b=a-2 {£¥- c/c

70819170656
b=at2c
70819170657.
b=2a+tc
70819170658,

Question Number : 17 Question Id : 70819121830 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—5

UIEe 9f, 90000 0 99° QA QAR QAFEH 999 994 a, b 9e° P Q0 98¢
RQILIEE | 6069 1@ 9G4 9ER QIR A0] ARG S48 @9 |

Options :

70819170655.

70819170656.

70819170657.

70819170658.

Question Number : 18 Question Id : 70819121831 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the peak current and resonant frequency of the following circuit (as shown in figure).

Armnmm—”—

100mH 400 uF

() V =30 sin 100t

120 )
Options :

g
70819170659, - ‘* and 50 Hz

70819170660, -2 A and 50 Hz

70819170661, = +* and 100 Hz

'j- :
70819170662, -2 A and 100 Hz

Question Number : 18 Question Id : 70819121831 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FoRge afaa (Feea 24191RR AGACR) | A1 FQYe, 6910 I9° UFAIR BIYE ALK AR |

——wmr—] [ —

100 mH 100 uF

() V=30 sin 100t

1200
Options :
70819170659, 2 A 99° 50 Hz

70819170660, V-2 4 997 50 Hz



70819170661, 2 A 997 100 Hz

70819170662, 0.2 A ~4%° 100 Hz

Question Number : 19 Question Id : 70819121832 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aninclined plane making an angle of 30° with the horizontal is placed in a uniform horizontal

electric field 200 % as shown in the figure. A body of mass 1 kg and charge 5 mC is allowed

to slide down from rest at a height of 1 m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

[g=9.8 m/ % sin 30°=

P ———
E=200N/C

Options :

70819170663.

70819170664, 138

2
70819170665, 92 S

70819170666, 103

Question Number : 19 Question Id : 70819121832 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
i < N 2x i .
Peea wdlldixgdQl Agdiea 200 E Q98 4@ Q¥ §QrRA RYIYR EALER YJrleq Q@ 30°

6RI660 1@ O11R UAIPQ (ARQIAR 637) BEIAIGE | 1 kg 93Q 1e° 5mC O1F 354 651G 9aQ
| m 000l 0 29919 69 AeQ ARl | 06 Ada YAIE 0.2 266, 660 0259 aId %at 6REel
Q3 3904 @a |

[g=9.8 m/s% sin 30° =%.‘ cos 30°= %]

—_—
E=200N/C

Options :

70819170663.

70819170664, 13

70819170665, 92 S

70819170666, 00'S

Question Number : 20 Question Id : 70819121833 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire of 1 () has a length of 1 m. It is stretched till its length increases by 25%. The
percentage change in resistance to the nearest integer is :

Options :

_—
70819170667, *° "

»
70819170668, 20"



25%
70819170669, 2> °

2 5%
70819170670, 1227

Question Number : 20 Question Id : 70819121833 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 06 9% 6lR 6964 1 m 688 | 198 6364 25% 9F aIRel die gaIEe *aBRI | gBERIER
690291 §0RQ! 0AeER aIFay gdaeNen 689 |

Options :
70819170667, *° 7
g
70819170668, 207
250/

70819170669, 2> °

7 5o
70819170670, 1>

Physics Section B

SectionId : 708191995
Section Number: 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Mark As Answered Required?: Yes



Sub-Section Number : 1
Sub-Section Id : 7081911275

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819121834 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The zener diode has a V,=30 V. The current passing through the diode for the following
circuitis = mA.

4k
AW

'
~]
2

won

ek

90 V™4

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 21 Question Id : 70819121834 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

FRQ Qlgeesa V=30V q&g |

P69 Q2N J0U6R PIAEE FI6Te 97 @QAF 9IS AL 689 mA |
4k
AW
_l‘ -
90 V=" N 5k

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121835 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: J
Time period of a simple pendulum is T. The time taken to complete 3 oscillations starting

. =5 S 1 : .
from mean position is —T. Thevalueofais .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121835 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

< z _5
6RlI5 4R cUEa R ZIaaie T 26e | ¢kl Hivg 2I9H @

6PN la@ ¢ UK |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

8

697 agd *dal aid %I' Qg



Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121836 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The volume V of a given mass of monoatomic gas changes with temperature T according to
' 2

the relation V=KT3. The workdone when temperature changes by 90 K will be xR. The

valueof xis

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121836 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2
e 92 588 6N WRUAAIgR QUQQ ZIAeR (V) eIEsgl (T) @@ V =KT3 Q#d 2QQs
05987 621RAN | 6J69696% SIARIGI 90 K 0RIda 08988 621R2N, QIdYa#as 629 2R | x @
gey 20 | (R= QA9§R I YoIx)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 24 Question Id : 70819121837 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
X 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819121837 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AR50 QIR0 g8 1e° 8g4a 93 g9l QaF 6TIER, 6310 GEIEE AR MIeY JI6A
21090 62988 | Q00 0099 686Q AIRF 62RISI T6EI-06AR, A §ERA 2GR 6AFR ARTIA
ARY QEIREA A6 x:y | x Qe |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121838 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
stations accommodated in a 90 kHz bandwidth are

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121838 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
92 6615 QIR 9aEq AGRR TR QTR AR\ 5 kHz 266, 6062 6815~ 90 kHz 24998 AR
P16l QUG AT AR (4.97) 9D LR Qe ceRE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121839 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA: ABwillbe x : y. The value of x is _ ’

Earth

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121839 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

?f0 gYe1a §96a, ARIREIRFE QAaR FY A 8 C 3960 QIR 266 | @9 @l B §Q
(9291 g9)6R 291 9@ 9aN0IQ AR 1OA:ABQ i 68e x:ylxQgae |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121840 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0

1 mole of rigid diatomic gas performs a work of — when heat Q is supplied to it. The molar
g

i ’ i . g A
heat capacity of the gas during this transformation is ? Thevalueofxis .

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121840 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—-~ - {1} - 1 - -
6alIs™ @%@ QUAFIgR 1 6AlRG MY — JaFld Qi) IAI9R @REl 6J606ER 1aIR () JarIdR
J

0I0 6QIBIAN | @ 0Fe8R AR GYIQER CAINIR BICNIRGI 6268 183 | x Q ga
266 | (R= QI9GR QU Y9IT)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819121841 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirroris _____ om.

5
50 cm -

60 cm

—I12m—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121841 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



6615 QIR6A ARG NER GEIYINAA 6815 GeR 2dER 679 0If 60 cm QAGIER CRIAR 1@
39 99 S QUIAIOR | 964 6RIR 9dd AIRRIER 1.2 m YRGIEH VU4 A2 ANNRA Y6l IR 6adl 96
OIRZE (Dg6ed) | 608961 QR 3 YR a0 6AR0IER 34 QUER AIERIR A9R gRFA]
694019, 692 900l 6208 6Qddcq |

5

ST 1Y/ M
60 em

e S

-
=

|
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819121842 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle executes 5.H.M. with amplitude ‘a’ and time period ‘T". The displacement of the

= _
VX8 Thevalueof xis
7

particle when its speed is half of maximum speed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819121842 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
21916 ‘a’ N9° AR ‘T’ A2 66IF AR AR AEAIFR 68 AHIE AT | 6ICEEER 121A

6995 QTRIP 6998 2 621RQ, MNTR FPG 6968 : M2 | xQgRI WS
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121843 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger dropis times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121843 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

RIeR 27 § 199 691Ig@R J6eYR 10 V 60 918 Q4K | 92499 681 6EINIRIR 651096
(91 99 99 6519l ARIRI | 99 651DITE 999 63 6RIT 6RIC 6L1IIR G4 699 |

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId: 708191996
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911276
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819121844 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11
(Molecule) (Bond order)
(a) Ne, i 1
®) N, (i) 2
() F, () O
d) 0O, ) 3

Choose the correct answer from the options given below :

Options:



70819170682, (@ — (), (b) — (iii), (c) — (ii), (d) — (i)

70819170683, () = (i), (b) = (i), (c) = (iv), (d) — (iii)

20819170684, (@ = (iii), (b) — (iv), (c) — (i), (d) — (i)

Question Number : 31 Question Id : 70819121844 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

PRl - 12 SRR - 11 980 fAqIz

==

QIGRI - 1 SIEal - 11
(24) (eeed)
(a) Ne, i 1
®) N, @) 2
 F (iii) 0
d) O, (iv) 3

mle @Qﬁ_ﬁ A0& QRQd QI :

Options :

70819170681. (a) — (1), (b) — (i), (¢) — (iii), (d) — (iv)
70819170682, (@) = (v), (b) — (iii), (c) — (ii), (d) — (i)

20819170683, (@) — (i), (b) = (i), (c) — (iv), (d) — (iii)

20819170684, (& — (i), (b) — (iv), (¢) — (), (d) — (i)

Question Number : 32 Question Id : 70819121845 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulting colloidal particles when Fe(l, is added to excess of hot
water is :

Options :

70819170685, Posttive

70819170686, negative

70819170687, neutral

70819170688, sometimes positive and sometimes negative

Question Number : 32 Question Id : 70819121845 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2@l FeCl, @ 600 a1d6a faieen 0adn 990 G929l Aie @d (0EeR)a 017 g4
6eRE

Options:
70819170685, ©& &%l

70819170686, ©7EEIEE

& =)
70819170687, © “2/%

R A N J:|:H"-}_ 19° CReREIen A '_.‘.--.;'
70819170688. CREMERER UWE'el 99° ERYEHEYER CHEEIT',

Question Number : 33 Question Id : 70819121846 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The correct order of electron gain enthalpy is :
Options :

70819170689, © >S5S >5e>Te

70819170690, e >5e¢>5>0

70819170691, 5~ O >Se>Te

70819170692, ©>5e>Te>0

Question Number : 33 Question Id : 70819121846 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QEmE. & 6017 Yamde A0« FAF 62e8 :

Options :

70819170689, © >S5S >5e>Te

70819170690, 1e>5¢>5>0

70819170691, 0~ O >Se>Te

70819170692, ©>5e>Te>0

Question Number : 34 Question Id : 70819121847 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-1L

List-1 List-11
(a) Siderite (
(b) Calamine (i) Ca
(c) Malachite (iii
(d) Cryolite (

v) Zn

Choose the correct answer from the options given below :

Options :
70819170693, (@) — (i), (b) — (ii), (¢c) — (v), (d) — (i)

70819170694, (@ — (i), (b) = (v), (c) — (1), (d) — (iv)
70819170696, (a) — (iii), (b) — (i), (c) = (v), (d) — (i)

Question Number : 34 Question Id : 70819121847 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QIRSl 1@ QIR 11 986 G |

QAR - 1 QAR - 11
(a) Eeelag (i) Cu
(b) QRN (i) Ca
() @IRNNAE, (iii) Fe
d) GRS (iv) Al
v) Zn

@ Qwe cug OR eeq g
Options :
70819170693, (@) — (i), (b) = (ii), (c) = (v), (d) — (iii)

70819170694 (@) — (i), (b) — (v}, (¢) — (i), (d) — (iv)



70819170696, (a) — (iii), (b) — (i), (c) = (v), (d) — (i)

Question Number : 35 Question Id : 70819121848 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following forms of hydrogen emits low energy 3~ particles ?
Options :

70819170697, Lroton H

Protium %H
70819170698.

Deuterium 2H
70819170699. 1

Tritium TH
70819170700.

Question Number : 35 Question Id : 70819121848 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G060 49 21062169R0 60 218 (Td)F 28 48 29l B~ @4 (ATRR) 296 F6R ?
Options :

wallaallel t

70819170697, ©9/681 H

cgiGaq H
708191706098.

70819170699.



Gacedan 2H

§6aq 3H
70819170700.

Question Number : 36 Question Id : 70819121849 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-Il.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (i) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options:
70819170701, @ = V), (B) = (i), (©) = (), (d) — (i)

20819170702, (@ = (iv), (b) = (i), (¢) — (ii), (d) — (iii)

20819170703, @) = (@), (b) = (iii), () — (iv), (d) — (ii)

70819170704, (@) — (iii), (b) — (&), (c) — (i), (d) — (iv)

Question Number : 36 Question Id : 70819121849 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



QAR - 12 QIAR - I 986 fx12 |

QIARl -1 QIR - 11
(a) 6AUPAF RIESIERE, (i) 68
(b) CIGCIR A (i) QLI - LR
(c) 6]8a (i) VE-2EIR
(d) 6AEAN 0681 (iv) dRER

3¢ Gee g O @9ef g
Options:

70819170701. (@) — (iv), (b) — (iii), (c) — (1), (d) — (ii)

20819170702, @) = (v), (b) — (i), (¢) — (ii), (d) — (iii)

70819170703, @) = (). (b) = (iid), (¢) = (iv), (d) — (ii)

70819170704, (@) — (iii), (b) — (ii), () — (i), (d) — (iv)

Question Number : 37 Question Id : 70819121850 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?

Options :

70819170705, 2203 5102

70819170706, 203 <20

N-O, BaO
70819170707. =

70819170708, 20 Si02



Question Number : 37 Question Id : 70819121850 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
69w 2QIRE 6P 2GS gaa AT ?

Options:

70819170705, £20% 5102

70819170706, 5203 €20

N,O, BaO
70819170707. =

70819170708, 20 Si02

Question Number : 38 Question Id : 70819121851 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI5, isomorphous to Csl, the metal is present in +1 oxidation
state.
Reason R ; T1 metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
708191707009. Both A and R are correct and R is the correct explanation of A
70819170710. Both A and R are correct but R is NOT the correct explanation of A

70819170711. A is correct but R is not correct

20819170712. A is not correct but R is correct

Yes

:Yes



Question Number : 38 Question Id : 70819121851 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ge60 900 GF QUARE | 60159 AT A 99° AT @198 R
cell|El- A : TIL, 60 21T +1 PIQE AAICR 28

RIQE- R TI2IQHR S6Ry, 71 @aUden 14 © f aeaq @ 28
QU9 2@ 669, §f IRF kG 4901Q KUY WG g

Options:
amel A 99° R 0) 99° R 6208 A @ 90@ ovIgl
70819170709.
1 Ay e = SO oy oo
20819170710, “9% A 99" R 0@ @3 R, AQ a0Q Quiet q6s

70819170711, A OR @2 R4@

70819170712. =~

Question Number : 39 Question Id : 70819121852 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgon is used for water treatment. Which of the following statement is NOT true about
Calgon ?

Options :

20819170713, <algon contains the 2"d most abundant element by weight in the Earth’s crust.

70819170714. It is polymeric compound and is water soluble.

70819170715. It is also known as Graham's salt.



ra (a2t 3 o s a =
20819170716. It doesnot remove Ca=" ion by precipitation.

Question Number : 39 Question Id : 70819121852 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RIRGE 98 QREHIMR CIE MeLIR FRILI | Y RFEEFR UG 6940 QIReR dagea O] qed ?
Options :

@il 61N &6 QILwIEes! ﬂ:‘*!.@ QE6a {B‘i, mass) 924 IYER l?l‘m‘ElR:‘ WC' & 6AFRg 2d

70819170713, Wi

70819170714, 8 4% @EMRRE 6UIFR U8° FRet WYk

o Gllg o)
70819170715, Arerites

48 Ca’?t @ 2Q6ddd QIR QLI @89 QI@
70819170716.

Question Number : 40 Question Id : 70819121853 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCl,/alc. KOH are used for the identification of functional
groups present in ____and ____ respectively.

Options :
70819170717. alcohol, amine

70819170718, amine, alcohol

70819170719 alcohol, phenol



70819170720, amine, phenol

Question Number : 40 Question Id : 70819121853 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- -

6A0] 6AIG9R, AIR6gs 1e° CHCl,/ale. KOH QaIgeed @
QIR 9999 596 A9 QI LA AAILI

(=]

__6age

L=

Options :

70819170717, . WE@IEE, dids,

2
D]
i
E—:I

70819170718, &9, 2lqea

IR 6RIEE, EFaE
70819170719. = : :

2IHq, cTaw
70819170720. X .

Question Number : 41 Question Id : 70819121854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 P& ‘A
In CH, =C=CH - CH; molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,
are :
Options :
sp2, sp2, sp?, sp°
70819170721, 1~ P P

3 3 3
70819170722, P 7 5P 5P+ 5P

o) J 3
70819170723, P r P



spZ, sp>, sp?, sp3
70819170724. e

Question Number : 41 Question Id : 70819121854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 g, g 4 i
Cl I =C—CH={) 13 dgen @ineq 1, 2,3 49" 4 Q 9°RE LEIKRET, CLRT :

Options :
LS, P SR
70819170721, F 7 P WP

3 3 ond
70819170722, °F 7 5P SP» 5P

g gl 3
70819170723, P ¥ 5P 5

sp2, sp>, sp, sp3
70819170724. ik

Question Number : 42 Question Id : 70819121855 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2)CrO5, 773 K
O 10-20atm

Considering the above reaction, the major product among the following is :
Options :
CH,CH;

70819170725.



COCH,CH,

70819170726.
CH,
CHy
70819170727.
CH,CH,CH,
70819170728.

Question Number : 42 Question Id : 70819121855 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2)CrhyOy, 773K
O 10-20 atm

QUG gOR9lq 99198 6aa 4 9919 GRS filg 6EeE :

Options :

CH,CHj
70819170725.

COCH,CHj
70819170726.

70819170727.



CH,
CH;

CH,CH,CH,

70819170728.

Question Number : 43 Question Id : 70819121856 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}f A in the given reaction.

OH

SOCl, _
—— A (Major Product)

HO CH,OH

Options :
OH
70819170720, ©OH CHyU
cl
70819170730, ©H CHOH

70819170731.



OH

Cl  CH

Gl CH,Cl
70819170732. -

Question Number : 43 Question Id : 70819121856 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Q2IYIR99 9ERAITa A @ Teg .
OH
SOCl,
— A (WY 29I9)

HO CH,OH

Options :
OH
70819170729, O CH
Cl
OH CH,OH

70819170730.



OH

70819170731, ¢l CHLC
Cl
Cl  CHyCl

70819170732.

Question Number : 44 Question Id : 70819121857 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the given chemical reaction.

CH,CH,CHO SO
@: 2 » A (Major Product)
CH,CH,CHO C,;HsOH, H5O

A

II II ACHO

Options :

70819170733.

O

)
.|_c
XL

70819170734. l l

70819170735.



CH,CH,COOH

70819170736, CH,CH,CH,0H

Question Number : 44 Question Id : 70819121857 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH,CH,CHO
NaOH
@[ > A (814 29I9)
CH,CH,CHO CzHﬂH; HyO

Options :

CHO

Q

70819170733.

=0

z:

70819170734.

o

70819170735.

CH,CH,COOH

~

70819170736, CH,CH,CH,0H



Question Number : 45 Question Id : 70819121858 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the fnllnwing chemical reaction.

SR i) HCHO, NaOH i
ii) CH3CH,Br, NaH, DMF
CH; iii) HI, A
Options:
I
: _C—OCH,CHj;
70819170737, 11O
i LCH,I
70819170738, 11O
: _CH,OH
70819170739, 11O
: .CH,OH
CH,O
70819170740.

Question Number : 45 Question Id : 70819121858 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



CHO

i) HCHO, NaOH
> A
it) CH3CH,Br, Nal, DMF

CH30 iii) HI, A

Options :

70819170737.

70819170738.

70819170739.

70819170740.

Question Number : 46 Question Id : 70819121859 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11.

List-1 List-11
Cl
Nz_’ﬂﬂ.l_ L
(a) @'/ LLI;;} +N, (i) Wurtz reaction
Cl

N, *Cl—
(b) @/ 2 C_u,—H(_l} @ +N, (i) Sandmeyer reaction

(c) 2CH,CH,Cl+2Na _ Ether C,H; ~ C,H; +2NaCl(iii) Fittig reaction

(d) 2CHCl4 ONa _ Ether , C;H:—C,H:+2NaCl  (iv) Gatterman reaction

Choose the correct answer from the options given below :
Options :
70819170741, @ = (i), (b) = (iv), () — (i), (d) — (i)
20819170742, @) = (i), (b) —= (i), (c) — (iv), (d) — (iii)

70819170743. (a) — (iii), (b) — (1), (c) — (iv), (d) — (ii)

70819170744, (@) — (i), (b) — (), (¢) — (i), (d) — (i1)

Question Number : 46 Question Id : 70819121859 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



PRSI - 1] QIR - I 4@¢ AqI2
oIag! - 1 Q1A - 11
Cl

NatCl— o -
(a) O/ _ G, +N, () e 988a

Cl

N2+C|_ . i
(b) ©/ Cu, HCI +N, (ii) <ILEFR JORD

() 2CHCH,Cl+2Na _S%®  CH,-CH.+2NaCl (i) G649 98Qa
(d) 2C.H.Cl+2Na 'ﬂ, CH;—C.H.+2NaCl (iv) eeasns goqe
G Gae fug A0R aaeld Q18 :

Options :

70819170741. (@) — (i), (b) = (iv), (c) — (i), (d) — (iii)

70819170742, (@) — (i), (b) = (i), (c) — (iv), (d) — (iii)
70819170743, (@) — (i), (b) — (1), (c) — (iv), (d) — (i1)

20819170744, (@) = (iii), (b) — (), (c) — (1), (d) — (ii)

Question Number : 47 Question Id : 70819121860 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanthoproteic test are used for the identification of and
respectively.

Options:

70819170745, aldoses, ketoses

70819170746, ketoses, aldoses

20819170747, Ketoses, proteins



proteins, ketoses
70819170748.

Question Number : 47 Question Id : 70819121860 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes

CQRUGT aNdl FIQEAIEYITR CQIdl QaIgea et Q §2¢ @89 aIa
SRS 89
Options :
ZIReeIng, @60l
70819170745. i, H

70819170746, ~00'RL, UMEEIRQ

70819170747, eeI8L 64IEG

70819170748.

Question Number : 48 Question Id : 70819121861 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «-D-Glucose and p-D-Fructose
(c) Maltose (iii) o-D-Glucose and o-D-Glucose

Choose the correct answer from the options given below :
Options :
70819170749, (@) = (i), (b) — (1), (c) — (ii1)

: MCQ Option Shuffling : Yes



70819170750, @ — (i), (b) = (i), (c) — (@)

70819170751. {ﬂ] — {]:.], {bj —3 {f_ii], {C] — {]:.i]

Question Number : 48 Question Id : 70819121861 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QAR - 1Q @IFEIE-'H - 11 g9@g fqi2

QRS - 1 Il - 11
(a) g6eRAN @) P-DSIAIRESIR 99° B-D-46RIR,
(b) @RI (i) oD-g6RR 9 B-D-Z6QIE.
() QINESIR (iii) u-D—‘@ZEQ ® N9 a-D-GEQIR,

d0e ReRe @f IRF fg Qg

Options :
70819170749, (@) = (ii), (b) = (i), (¢) — (ii)

70819170750, @) = (i), (b) = (i), (¢) — (i)

Question Number : 49 Question Id : 70819121862 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4-DNP test can be used to identify :

Options :



70819170753, halogens

70819170754, aldehyde

70819170755, amine

70819170756, Ccther

Question Number : 49 Question Id : 70819121862 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2, 4-DNP 9815 Q4920 249, 091a9Iq -
Options:

70819170754, AEEIaE,

3
=
=

70819170755.

=ER
70819170756.

Question Number : 50 Question Id : 70819121863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

D. Benzenamine

Choose the correct order of basic nature of the above amines.



Options :
70819170757, A >B>C>D

70819170758, D> € > B> A

70819170759, 4> C>B>D

70819170760. P> B>C>A

Question Number : 50 Question Id : 70819121863 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) geda daQame

(B) N,N-@@fzde aeas

(C) N-Ja@ge 25as

(D) 6e&xIIee

QUERID BIFe gowe FI91d gda A0 q¢6 Ff 998 QI8 :

Options:

70819170757. A7 B> C>D

70819170758, 0 > € > B> A

70819170759, 4> C>B>D

70819170760. P> B>C>A

Chemistry Section B

Section Id : 708191997



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911277
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819121864 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The NaNO, weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na*
permLis g (Rounded off to the nearest integer)

[Given : Atomic weight in g mol 1_Na:23;N:14;0:16]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819121864 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
g% mL 6@ 70.0 mg Na* 218@ 29I 50 mL @ 9@ @018 998 daid @& qIf
NaNO, 686 @aI€ | (Gasee g4 aan)
(998: 0901839 §gQ gmol ! 66 Na:23;N:14;0:16)

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121865 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121865 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4@ FINAEA 49 AATRRIG §A1R Qw 0F PRe AP Qe 6o _ 1 (94 2aviea
299 )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 53 Question Id : 70819121866 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball weighing 10 g is moving with a velocity of 90 ms 1 1f the uncertainty in its velocity
is 5%, then the uncertainty in its positionis %10 3 m. (Rounded off to the
nearest integer)

[Given : h=6.63 10 Js]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819121866 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
10 9IF1 899 6815 9%, 90 ms~! 0R69GEE 6T R | Y218 UR699Q 25E00l 94 5% 299, ¢
696 910 9160 U560 @a8 __ x107¥m | (gd
(09@: h=663x10"3s)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121867 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The average S—F bond energy in k] mol ~! of SF, is _ . (Rounded off to the nearest
integer)

[Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121867 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Q210918 9898 k] mol~! 60 68QR (Gacer gderaticn @e9)

0e8: SFy(g), S(g) ¥9° F(g)a €0% Qlg 4196 wand 6eed Qa1ged - 1100, 275 19° 80 k]
mol ~ !

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121868 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 Kkg mol ~!). The number (n) of benzoic acid molecules
associated (assuming 100% association) is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121868 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

100 g9, @@68 122 QIF 696HI0Q, & 99186 QA6 294a 2AIF - 0.93°C 6Q4I
(K¢ (H,0)=1.86 K kg mol h
CREHIER, AR RE0 2R el (n) 6ReE

(MQIQIR 100% @G0 6288 )_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819121869 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pH of ammonium phosphate solution, if pk,d of phosphoric acid and pkb of ammonium
hydroxide are 5.23 and 4.75 respectively, is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 56 Question Id : 70819121869 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q0 TQETAR AYR pk, 99° UEAIRGE AA6LIYALR pky AY DAIREA 5.23 9 4.75 94 @
626R EAITEF TI6TE 9940 pH €298 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121870 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is xx 10 2,
Zn/Zn?* (0.1 M)||Ag™* (0.01 M) Ag

The value of x is . (Rounded off to the nearest integer)

ey ZIMBRT
=+ 080V ; f=[l.[b‘.i]

. .l | 7.l
|Given :E’ ., =—DJeV;E" .

T P Ag [Ag

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819121870 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

208 K 66 GFREe 62196 emf V 66 6888 xx10~2
Zn/Zn?* (0.1 M) |Ag* (0.01 M)|Ag
X Q R4 6908 __ (Gacea g& a°eil)

_ o
(goa : EY ., —“mfRT=L‘LL'ﬁ€J}

——076 V;E' .,  =+0.80V;
n” fZn A

g [Ag

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121871 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k| mol ! the fraction of molecules at 700 K,
having enough energy to react to form products is e *. The value of x is
(Rounded off to the nearest integer)

[Use R=8.31] K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121871 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



X
(Facen gd eey) [94921e @8 : R=831] K™ mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819121872 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnO, to “A”. The oxidation
state of sulphur in “A" is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121872 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

216AIARNEET. 2GR CIF MRER FIIG FIRFER MnO, QIal QIG6 6Ia “A
ARTRR 9104 29D 6908 _

a9q | ‘A'ea

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121873 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of stereoisomers possible for [CO{OX]E{BI':I{NH;E:]JZ is

[ox=oxalate]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121873 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Co(ox),(Bn(NH,) >~ 68 §AI8@ arI9aee aalae Qe 6ea8
[ox = 2URPIERG]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Mathematics Section A

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 61 Question Id : 70819121874 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=81s (o, B, ¥),

then 5(c+f +v) equals :
Options:

70819170771, 39

70819170772, 41

43
70819170773.

70819170774, *’

Question Number : 61 Question Id : 70819121874 Question Type : MCQ Option Shuffling : Yes

708191998
5

Online
Mandatory
20

20

80

Yes

1
7081911278

Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q@ (1,3,5) QR0 4x -5y + 22 =8 AAIeq QAR 9641 890 AT (o, B, y) UEE, 6669 5o+ B +7)
aqie

Options :

70819170771. 39

70819170772. 41

43
70819170773.

70819170774.

Question Number : 62 Question Id : 70819121875 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
LetA={1,23 ..,10}and f: A — A be defined as
'{{k]: [k+1 ifkisodd
: | k if k is even
Then the number of possible functions ¢ : A — A such that gof=fis :
Options :

70819170775. S

1{]{:
70819170776. 2

55
70819170777.

70819170778, 10°



Question Number : 62 Question Id : 70819121875 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A6RaE 696 A ={1,2,3,...,10} ¥&° f: A - A 0ea6'Q

o Jk F1, €@k 2agg aes

| k , 99 kggaes,
(@08 9918 QAIKIN, 6669 g IRRER a°dl, 6060 g: A — A B8 gof=f 266 :
Options :

|
70819170775. 3!

1{]{:
70819170776. 2

70819170777.

70819170778, 10°

Question Number : 63 Question Id : 70819121876 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y =sinx, y=cosx,

v-axis and * =';I in the first quadrant. Then,
Options :

y = « s —
70819170779. Al ’ Az 1:2and Al I Az 1
70819170780, 217 A2=1: V2 and A, +A,=1

70819170781, 1= A2 and A+ A= 2



> ek ; . '
20819170782, 2A1=Az and A+ Ay=1+4 .2

Question Number : 63 Question Id : 70819121876 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6298 9AUNDINER 29T0 996a% y=sinx, y=cosx G y- 28 QIAI A\ CILR 6ARTR A, e
QR6AEI y=sinx, y=cosx, - 28 8 ¥=— QIGI 2T 6390 683X A, | 6969

Options :

. — P I, Tt &
70819170779, 1 A2=1: 2@ A+ Ay =1

20819170780, A1 1 A2=1: {2 99" A+ A, =1

70819170781, 1= A2 I A A=

P = G - . E
70819170782, 11~ A2 & At A =1+ 2

Question Number : 64 Question Id : 70819121877 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fO<ab<1 and tan la+ tan ! b = :li, then the value of

' i oL . Sl
R e R e B e e

Options :

70819170783.

70819170784.



>
70819170785, 082

i \

e
2

log.e
70819170786. hia

Question Number : 64 Question Id : 70819121877 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1

3 0<ab<1 99° tan la+ tan 1 b= — , 606Q

a1I hzn ajl bjx a4l h4\
(a + b) - | b @ QY 2166 -
3 L 4

A A

Options :

70819170783.

70819170784.

70819170785.

70819170786. e

Question Number : 65 Question Id : 70819121878 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



2
¥ty
X

Let slope of the tangent line to a curve at any point P(x, y) be given by . If the curve

intersects the line x + 2y =4 at x= — 2, then the value of y, for which the point (3, y) lies on
the curve, is :

Options :
%
3
70819170787.
18
70819170788. o
18

70819170789. 35

18

11
70819170790.

Question Number : 65 Question Id : 70819121878 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" s
6090 QR60dIR 606714 @9 P(x, y) 0168 2899 694 ¥ Y g QRERSIT, x+2y=4

ARDERLIR x= -2 0I6Q 629 Q6R, 6069 @9 (3, y) 92606 QUeq UYHT QER y o ¢al 6T :

p

Options:
5
5
70819170787.
18
70819170788. =
18

70819170789. 35



18

1
70819170790.

Question Number : 66 Question Id : 70819121879 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 2 -
The sum of the series 3 2 b Lo, is equal to :
r::l {?.I‘l + 1)!
Options :
%DI Ee_l 10
70819170791.
b A T
70819170792, 8 8
i—l |§ i
70819170793.
e T L BT

70819170794. 8 8

Question Number : 66 Question Id : 70819121879 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{: I'n2 Foen + 10

= @+

cEENTR Add O dAIg

Options :

70819170791.



T 2 s
70819170792, © 8
%m l—: s [
70819170793.
ﬂe Ee_l 10

70819170794, 8 8

Question Number : 67 Question Id : 70819121880 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Let f(x) = Iﬂt f()dt + e* be a differentiable function for all x € R. Then f(x) equals :
0

Options :

70819170795. ~

70819170796.
70819170797.

70819170798. ~

Question Number : 67 Question Id : 70819121880 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X
aerea f(x) = [ef ftdt+e" @Red, xa QAT Q1B CaY QAN QIS 2eGRRIA | 6969 f(x) @
0

ARY QRIG :



Options :

70819170795. ~

70819170796.

70819170797.

70819170798. ~

Question Number : 68 Question Id : 70819121881 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S o (@) - af(x)
Let f(x) be a differentiable function at x =a with f'(a)=2 and f(a) =4. Then lim = e
i i 5 X—d ) i
equals :
Options :
7.
70819170799, 22~ 4
~,
70819170800. * -2
”, /
70819170801, 22 *4
at4
70819170802.

Question Number : 68 Question Id : 70819121881 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



_— A Al la
716769 x=a 0/68 f(x) 1@ 29GAR1A T96 6ATAR f(a) =2 8 f(2) =4, 666 lim ==—
3 B : X—a 3 C

Qg »
Options :

)
70819170799, 22 4

2

70819170800, * 2@
70819170801, 22 T4

a+4
70819170802.

Question Number : 69 Question Id : 70819121882 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X2-x-2

Let f(x)=sin"! x and §(*) = —

. - If .8{21 = EIEIE g(x), then the domain of the

function fog is :

Options :
_ g
(- =, 21u[ = |
70819170803. = e
' . "
- =, zlu[ =3
70819170804. &
{— o~ o)
70819170805.

agh e B0 bt PR
70819170806.



Question Number : 69 Question Id : 70819121882 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b SR
r=-x=-2 . _ —
F16909 f(x)=sin"!x 9e* g(x) = D : de g(2) = IIm1 g(x), 6669 fog TRFCR UALR
2" -x -2
adee :
Options :
( %0, 2] L) \‘ ir :1':\
y
70819170803. =
e %
(—= -2 v { i |
70819170804. W A
(-, ~1U R, =)
70819170805.
(—=, -2 v][-1, =)
70819170806.

Question Number : 70 Question Id : 70819121883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A(1, 4) and B(1, —5) be two points. Let P’ be a point on the circle (x 1)24 (y-1)=1
such that (PA)? + (PB)? have maximum value, then the points, P, A and B lie on

Options :

70819170807, cllipse

70819170808, 2 "YPerbola

70819170809, @ parabola

70819170810, @ straight line



Question Number : 70 Question Id : 70819121883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f162a0 A(l, 4) 99 B(l, -5) 996618 @2 | P, 98 (x- 12+ (y-1)2=1 9069 9068 @ 8g

g

6908@ (PA)%+ (PB)? @ €A QQIY@ 699, 6069 P, A 8 B 39g@@ 2996 @89l 94 :
Options :

70819170807, 2" cllipse

70819170808, 2 yperbola

70819170809, @ parabola

70819170810, @ straight line

Question Number : 71 Question Id : 70819121884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— -

If vectors ay =xi — j + k and a; = i +yj + zk are collinear, then a possible unit vector

parallel to the vector xi 4 y j' 2k s

Options:
Ay 8.
— \— Jt+k
70819170811. ‘E
1 t A M A '|
— |1 §+k
'.‘
70819170812. \'I{_

70819170813, V2



70819170814, V2

Question Number : 71 Question Id : 70819121884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m — A A A — M A A oo -
49 QAT a) =xi — j+k B ap =i +yj +zk go& 9@ dOREAS QUEQ UG, 606Q

QaIF xi +yj +zk 92 QFI8Q 691G AAQ 169 FEIT 26E :

Options :

AL
70819170811, V<

P e By
70819170812. v
70819170813, V2

L7

70819170814, Y2

Question Number : 72 Question Id : 70819121885 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let Fy(A, B,C) = (Aa~B) v [~CA (A v B)] v ~Aand F,(A, B) = (A v B) v (B— ~A) be two
logical expressions. Then :

Options :
20819170815, F, and F; both are tautologies



70819170816. F1 is a tautnlog}-' but F2 is not a tautnlog}-'

70819170817, Fl is not a taumlng}f but F2 is a tautnlng}-'

Both F; and F, are not tautologies
70819170818. =

Question Number : 72 Question Id : 70819121885 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A67a8 F,(A, B,C) = (An ~B) v [~C A (A v B)] v ~A 4&° F,(A, B) = (Av B) v (B — ~A) Qa8
0FYS 6a 227, 6069

Options:

20819170815, F1 @ F2 880 9aq3(cecisnis)

70819170816.

70819170817.

awd F, 9@ F, 9aq% oea
70819170818. 2 AT R

Question Number : 73 Question Id : 70819121886 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number
so formed is divisible by 2, is :

Options :

‘M\]I;__,_}.

70819170819.



3|

70819170820.
1
70819170821, /
4
70819170822.

Question Number : 73 Question Id : 70819121886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3,3,4,4,4,55 2% 909 19910 9 9@ 96 2¢ 999 99 G0Q QAIgRl | & G009 @aud

2 Q15 QRIS 62910 ARSI 26T :

Options :

‘H-H}I'__,J.

70819170819.

3| o

70819170820.

‘-a,\]||_'..

70819170821.

*».J|,4-_..'

70819170822.

Question Number : 74 Question Id : 70819121887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following system of equations :
x+2y—3z=a
2x+6y—11z=b
x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :
Options:
70819170823, has a unique solution for all a, b and c

20819170824. has a unique solution when 5a=2b+c¢

70819170825. has infinite number of solutions when 5a=2b+ ¢

70819170826. has no solution for all a, band ¢

Question Number : 74 Question Id : 70819121887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QF 9RUIe AMaad A9D :
x+2y—3z=a
2x+6y—11z=>b
x—2y+7z=c,

Q G010 eaIgia 60@0 a, b 8 ¢ AI6R Q129 FAIF | 9@ AMGRE AR

Options :
70819170823, b&wm Y GRIE QFIRIIG &I, dF19 a, b @ ¢ g

70819170824 ERe@ 6eled flig dflikia R 6Lee6aem da=2b+c

70819170825. 2diel doglie deliella 8' 6deweeew da=2b+c

70819170826, S@6d QAR @2, @98 a, b & c AIQ



Question Number : 75 Question Id : 70819121888 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle of maximum area that can be inscribed in a given circle of radius r’ is :

Options:

70819170827. An isosceles h‘ia_nglc- with base c-qual to 2r.

20819170828 A right a_nglc- h‘ia_nglc- having two of its sides of Ic-ngfh 2r and r.

"
An equﬂatr_-ral ’r_riarngle of hr_-ight _—;
70819170829, :

An equilateral triangle having each of its side of length ﬁ r.
70819170830.

Question Number : 75 Question Id : 70819121888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥ S S98 IR 96 986R QTR 6HETW Rl YR Y UER ARleaRe 07 GYRT 266
Options :

20819170827, 1@ 994919 §RF QIR §F 2r.

19 ACERE SR DR QAF 9Q @ 2r G r.
20819170828, 4 AA6RIST QL QYR QAE LA QA 2r 6 r

3 2
99 79I 9 A9 LSl ==
70819170829. 3

10 e SR dEa .‘;.u":'w';.q."‘.'u. .
20819170830, 1% 29I GYF AIPIA GESIR QLR 6VGY V31

Question Number : 76 Question Id : 70819121889 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a line obtained from the intersection of two planes x+2y+z=6 and y+2z=4. If
point P(a, B, v) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(c+ + )
equals :

Options :

68
70819170831.

(51

70819170832, 102

36

(=]

70819170833.

70819170834.

Question Number : 76 Question Id : 70819121889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A60Q0 Q6 AAeR x+2y+z=6 8 y+2z=4 @ 6899 L &0 {78 | @@ §Q P(o, B, v) ©

e
(3,2,1) G99 L Q60 256 RAQ 2199 949, 6069 21(a+f+y) Q Y QIR :

Options :

68
70819170831.

02

(=1

70819170832.

(=1

70819170833, 136

42

—

70819170834.

Question Number : 77 Question Id : 70819121890 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R — R be defined as

- L
I_sm | ifxr<-—1

flx)=9

\ 2/
v _—
ax Ex b at-1=sx=1
| sin(mx), iix >1
If f(x) is continuous on R, then a + b equals :

Options:

70819170835.

70819170836.

70819170837.

70819170838.

Question Number : 77 Question Id : 70819121890 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘ [ ax) _a
'25in1 —| ger<-1
l LY 2,-'

A6eea f:R — R aeedq f(¥)= 200 gaK ealda 28

axz Fx+b|, @& l‘i:l'i:l\c

|sin(mx), @@ x>1

9@ f(x) OGS, R Q199 & 626 QU6R FA9ER 2U6C 6669 a+b QAR
Options:

70819170835.

70819170836.



70819170837, !

70819170838, °

Question Number : 78 Question Id : 70819121891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
x> +y?=11s a circle of radius r, then r is equal to :

Options :
1
70819170839, %
1
70819170840, 2
1
?
70819170841, <
1
70819170842,

Question Number : 78 Question Id : 70819121891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9@ Q9 (3,2) 01, ¥ +17=1 QA @089 @ 39 g0 2Fe CQUIUEn ARGQAIREE A°9Ia g

(6RIRQ) r IAS T8 9@ 9@ 24, 696R r AFIG :

Options:
o

70819170839, ¥



'__,Jl,_.

70819170840.
>
=
70819170841. -~
1
70819170842.

Question Number : 79 Question Id : 70819121892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A natural number has prime factorization given by n=2"3%", where y and z are such that

y+z=>and y 14771= E Yy > z. Then the number of odd divisors of n, including 1, is :

Options :

70819170843.

70819170844. =

70819170845. =

70819170846, °F

Question Number : 79 Question Id : 70819121892 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

66T 86 QAR 6F1AR FRSER n=273V5, WBOR 6RUINIAE, 60W0 y 8 z 10R 6d y+z=

8y 4z =2(y>2) 16069 nq (120 29q QISR LU 26T -
y 0 d

Options :



70819170843.

70819170844. =

70819170845, "~

70819170846, %

Question Number : 80 Question Id : 70819121893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

1 t
For x >0, if f(x)= J‘h

J(1+Y)

; o
l".

dt, then f(e) f| — | is equal to
e/

Options :

70819170847, Y

70819170848.

K=

70819170849.

70819170850.

Question Number : 80 Question Id : 70819121893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

s log,. t . {1}
x>0 aig, 88 f(x) = [=22—dt, 6862 f(e) +f|—| aqie :




Options :

70819170847. Y

70819170848.

M| =

70819170849.

70819170850.

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191999
6

Online
Mandatory
10

5

20

Yes

1
7081911279

Yes

Question Number : 81 Question Id : 70819121894 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1

- _ [ym=1gq _an-1 3. ¢ gy fF TR
€I, ,= _[1’” (1-x)"" dx, form,n = 1,and {{ PR

0
equals

=aly n,ae R, thena



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819121894 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

l 1 m=1 | n-1
A5 _ [.m=1 an=1 3 - X X
Qe Ina=x (-x " dr,(mnz21)9ealy,,=

0
o 9elle

(1 dr, (a e R), 6069
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819121895 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z be those complex numbers which satisfy

245 < dand 2(1 +i) +Z(1 —i) > ~ 10,i = 1.

If the maximum value of |z+1/2 is « A INE, then the value of (a+f3) is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819121895 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

=
1l

2 @69 QWY Q1D [z+5| =406 (1 +i)+Z(1-di)= —-10,i=+-1, QaQ

1

P

=]

{16099 z, dQ

a7

B

AIRZE | €6 £+12 @ QIR ga o+ B2 @9, 6069 (atp) QMY A
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121896 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, —3) and (4, Z\E], and given that 'a ~-2/2b=3 then
(a®+b*+ab)isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121896 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

(6008 98 29 9@ 9F604I0 999 FQ6a AN AR 6Rd 969 9 (a, b) fu6RE

0oR6R | 99 Qa6 (3, —3) 0 6 r4 ~22) G0 (U6QQ 67 Q6 8 FUNARAT @

a—2J2b=3, 6969 (2+b2+ab) AR BeE
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121897 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let a be an integer such that all the real roots of the polynomial
2x7 + 5x4 + 1023 + 10x2 + 10x + 10 lie in the interval (a, a+1).

Then, a| is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121897 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A6RR9 a @ gaadyl 6da@@ 20° +5x1 +10x° + 1022+ 10x +10 oReaIfaR (9291619) @
qrg QIge Q1P (A%) 96 (a, a+1) ALAIRER AES 92T | 6669 |a| A 266 ___

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121898 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

18 18
Let X, X, ..., X,q be eighteen observations such that Z(Kz a) = 36 and l(}(: [:‘;)2 =90,
i=1 i=1

where « and [} are distinct real numbers. If the standard deviation of these observationsis 1,
then the value of |a — B/ 15 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819121898 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. i B
AQIRIR Xy, Xy, ..., Xyg 18 60IF Oicond, 6088 Y (X -a)=36 8 Y (X; - B)* =90,
i=1 i=1

o« 8B 908 2R Q199 @gy | 99 1@ 0dicend g@ea ¢Ier 943 (SD) 129, 6668 ja — B
Qe Qe

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121899 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 0 | 100
If thematrix A= 0 2 0 |satisfies the equation A*’ + «A"™ +BA={0 4 0| forsome
a0 -1 00 1

real numbers « and 3, then p~« isequal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121899 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A¢ M9 A=[02 0, « 8 B @ 6d4d Q129 AN @ ANAQE

100
AD +aAY +BA=[0 4 0| 5Q @8 Q68 6969 p—a IFIR :
00 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 87 Question Id : 70819121900 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a and B be two real numbers such that a«+p=1 and af=-1. Letp =(a)"+ ()",

A y 9
Py-1=11and p, ;=29 for some integer n = 1. Then, the value of p, 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121900 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

6798 a 0 B 998 Q99 ¢y 6J08R a+p=1 8 af=-1 140 ca6d w@ g¢d Qi n =1
AR p,= ()™ + (B, p,_y=11 92" p, ,,=29, 6669 'pﬁ QAR aee
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121901 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of 4-digit numbers whose greatest common divisor with 18 is 3, is



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121901 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

QIAZT Q48 gy AIREE 6716 ey, AR 18 99 6.9.9 (998 A e ) 3 26F,
FARIGTR QoG 26e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819121902 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the arithmetic mean and geometric mean of the p“' and q”' terms of the sequence
16, 8, —4, 2, ... satisfy the equation 432 -9y +5=0, then prgisequalia. - o .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 89 Question Id : 70819121902 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q@ —16,8, 4,2, ... 64410 p 041 B q 9 99Q 4AIga 11dAIe G Yedian Hidia, deRad
4x2-9x+5=0 q 9% Q6Q, 6662 p+q QAR
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121903 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let L be a common tangent line to the curves 4x? 4 9y2: 3 and (2v)* {21;)3: 31. Then the
square of the slope of the line Lis __

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121903 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

60R0 906 9R9 4x%+9?=36 8 (2)*+ (2y)*=31 €F, L 9@ AIed 99Q, 6669 608l L &
6900 Q6 %6E



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



